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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271813
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592730503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given responses, find the missing letter in the series.

ECDLEIGH], MKLN,

Options:

1. * RTMK
2. v QOPR
3.« YNVU
4. = HTQL

Question Number : 1 Question Id : 54592730503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev v fashedl # & Aol & ofca 3187 &1 AT e

ECDF,IGHJ, MKLN,

Options:

1. = RTMK
2. v QOPR
3. = YNVU
4. = HTQL

Question Number : 2 Question Id : 54592730504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the wrong term in the series?

KL1,0Q2,0V9,JM3
Options:

1. = KL11
2. % 00Q2
3. v 0OV9
4. = JM3

Question Number : 2 Question Id : 54592730504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST H Teld T Tl ?

KL1,0Q2,0V8,JM3

Options:

1. = KL1
2. = 0OQ2
3. v OV9
4. = JM3

Question Number : 3 Question Id : 54592730505 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If all the letters in the word ‘AUSTRALIA’ are arranged in the
English alphabet order in itself and thus formed words
arranged in dictionary order from left to right, then which of
the following original word is the 4TH from right?

Options:

1. % S
2. % L



3. A
4. v R

Question Number : 3 Question Id : 54592730505 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifg ereg AUSTRALIA 'S il 31&87T 373SiT guiATem =dF H 310e
T Sadd 8ld & 3T 9 W ¢5¢ & A H aieadd
eleq §1¢ § G0 @ld g, df Toiesiielidd H & hiel &1 Hel 2eg
2% 3T 4TH &7

Options:

1. = S
2. % L
3. % A
4. v R

Question Number : 4 Question Id : 54592730506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the odd one out from the given alternatives.

Options:

1. = Drone
2. » Buck
3. v Cow
4. = Bull

Question Number : 4 Question Id : 54592730506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feu 77 foerenl & O favw a9 HT

1. = & AYAFET (Drone)
2. = T8



4. % ol

Question Number : 5 Question Id : 54592730507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given alternatives.

Options:

1. = OKQ
2. v JNH
3.« RNT
4. = EAG

Question Number : 5 Question Id : 54592730507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev a7 fahedt & f@ee T o |

Options:

1. = OKQ
2. v JNH
3. = RNT
4. = EAG

Question Number : 6 Question Id : 54592730508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In each of the following questions, certain pairs of words are
given, out of which the words in all pairs except one, bear a
certain common relationship. Choose the pair in which the
words are differently related.

Options:

1. = Dog : Puppy
2. v Deer : Kitten
3. = Lion : Cub



4, = Tiger : Cub

Question Number : 6 Question Id : 54592730508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafEa ueds wea #, $o AfRua oo few a0 & o=
T Uh &l BIZHT THT SN2 H ¢lec Toh [ATeTd AT 99 &
39 ST skl el TS/ qal ofse 37T g @ Fuiad gl

Options:

1.w§a?—rr:fﬁ|wrr
2. v &IoT : ser

3. = 9T : ATdH

4, = STE : oMdeh

Question Number : 7 Question Id : 54592730509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number {rom the given alternatives.

Silence : shout ::

Options:

1. = Joke : Laugh
2. = Elevate: agree

3. = Level : grade
4. v Elastic : rigid

Question Number : 7 Question Id : 54592730509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fFafa@a mead & U a0 [@redl # O gFeiedd
ET/SS/TTAT <hl gf&ul

Al "edrar
Options:

1. = HAIR : &4r
2. = Ulolde : O8Ad &
3. » ¥a¥ : I

4, v ZolECH : AN

Question Number : 8 Question Id : 54592730510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number {rom the given alternatives.

EDMN : DENM : : IRNT :

Options:

1. v HSOS
2. = HSQR
3. = HPRS
4. = HIPX

Question Number : 8 Question Id : 54592730510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao Ed U2l A T 97 [eredt # & graleud
ITETT/TSS/TTIT hi gﬁvl

EDMN : DENM : : IRNT :

Options:



1. v HSOS
2. = HSQR
3. = HPRS
4. = HIPX

Question Number : 9 Question Id : 54592730511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number {rom the given alternatives.

IJ : KL
Options:

1. = AB: PQ
2. AD : GH
3.« EM:OP
4, v MN : OP

Question Number : 9 Question Id : 54592730511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAeaTel@a e A QU 30 [Aeredl A & gFaleud
ITETY/TsS/TEIT <Rl g’féﬁul

lJ : KL :
Options:

1. = AB : PQ
2. = AD : GH
3. = EM : OP

4. v MN : OP



Question Number : 10 Question Id : 54592730512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If ‘MAREFE’ is coded as 14-26-9-22 how will 20-22-26-9” be
decoded?

Options:

1. = BEAR
2. » FEAR
3. v GEAR
4. « MAKE

Question Number : 10 Question Id : 54592730512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afe 'MARE' T 14-26-9-22 & &7 # Hied forar iram &, ar
20-22-26-9° ®I F& Fe FFHAT SATCAT?

Options:

1. = BEAR
2. = FEAR
3. v GEAR
4. = MAKE

Question Number : 11 Question Id : 54592730513 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If ‘glass’ is called ‘marker’, ‘marker’ is called ‘pencil’, ‘pencil’ is
called ‘grass’ and ‘grass’ is called ‘bag’, then what does
animals eat?

Options:

1. = Grass
2. v Bag

3. = Marker
4. = Glass



Question Number : 11 Question Id : 54592730513 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I "FIema Y AR FaT ST &, AR U8 el Sl
&, O I 'O &l JAdr § 3T ‘g 'S FE7 FAdT 8,

ar STead AT T &7

Options:

1. = =
2. v &7
3. * HRY
4. = frems

Question Number : 12 Question Id : 54592730514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language,la ma sa’ means ‘May I Come’, ‘sa
ma fa’ means ‘you may come’. What does ‘la’ means in that
code language?

Options:

1.« 1
2. % You
3. = May or come

4. = Data inadequate

Question Number : 12 Question Id : 54592730514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T TATRET $e AT H, ‘la ma sa’ &1 37T ‘May | Come’, ‘sa
ma fa’ T 314 ‘you may come’ & HINT H ‘la' T 37T T &7

Options:

1. ¢ |
2. % You



3. » May or come

4. = Data Inadequate

Question Number : 13 Question Id : 54592730515 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Six animals Elephant, Tiger, Bear, Lion, Dog, Cat are sitting on
a bench facing north and discussing about a game. Tiger Is
sitting second to the right of Dog who 1s immediate left of
Bear. Neither Elephant nor Lion is on the either end. Cat is on
the right end of the bench. Lion is third to the right of animal
who is immediate right of Dog.

Which of the following animal is third to the left of animal
who Is at right end?

Options:

1. = Elephant
2. v Tiger

3. = Dog

4. = Cat

Question Number : 13 Question Id : 54592730515 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



a:mmﬁ,iﬁw,aﬂq,aﬁ,gﬁn,%ﬁﬁwéaw
3cc¥ feerm hr 3 7" w395 & AT v Wer 1 =T FT @
g1 <A, Fed F AT F gEY TATT W ST § S F a7
foTeheadl gRIT 3T ST &1 o ar &Y o &r oY fohdl o s ©
83 &1 ool , 8T & 30 B W T §l AT 3 AT & aIv
q A T W E Sl R Fed & fasheadl gl 3T o &

fadeT # & hieT IT AT TV 3d W §T § 39 SAdad h A0
T JEY TUTT 9T ST & 7

Options:

1. = &7
2. v drdr
3. * FHedl
4. = Teeell

Question Number : 14 Question Id : 54592730516 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Six poles viz. K,L,LM,N,0 and P each of different length are
kept on the ground but not necessarily in the same order. L is
shorter than K but longer than P. N is longer than K. M is
shorter than K but longer than L. P is not the shortest. Which
is the shortest pole?

Options:

1. = K
2.v 0
3.« M
4 = L



Question Number : 14 Question Id : 54592730516 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o8 Tre AT KLM,N,O 3R P ucde 3HeldT-37el49T oels
STHTT T & STa & olfohel ST oTal ToF T &1 A H &1 L,
Kaolagdiha PE AT EI N, KT eFT g K, M BleT &
K & offshel L & o/ &1 P Gordl BlcT 8l &1 o Biel TFar
il AT g7

Options:

1. » K
2. v O
3. = M
4. = L

Question Number : 15 Question Id : 54592730517 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ram, Gauri, Rahul, Shiv and Tom are five dancers who have
to perform on a particular day, not necessarily in the same
order. Rahul is neither the first nor the last to perform. There
are exactly three dancers who performed after Shiv and
exactly three dancers who performed ahead of Tom. If Ram
performs after Gauri, then who is the last to perform?

Options:

1. = Shiv
2. * Tom
3. ¥ Ram
4. = Gaurl

Question Number : 15 Question Id : 54592730517 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



W,W,T@H,%Bﬂl‘ﬁﬂqiu T & Toleg foRaT foeiy
feoT U vl FTaT BT &, ST oTal foh o 34T shH H &l
T@Wﬁ?ﬂ?ﬁvaa’r%ﬁﬁaé’rsﬂ@ﬁ%l JEIGIG
A ¢ Siegle 1T & a1g ugeler foham 3T &k d1e adeh
foteglel eld o 3mer wecqicr &1 afe Ta ailr & are weefer d
&, ar 3faF vedfd o arelr ST &7

Options:

1. = &9

it

2. = CIH

3. v TH
4. % FTNT

Question Number : 16 Question Id : 54592730518 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a row of boys, Vigyan is 12th from the start and 19th from
the end. In another row of boys, Jatin is 14th from the start
and 20th from the end. How many boys are there in both the
rows together?

Options:

1. = 72
2. % 065
3.v63
4. % 61

Question Number : 16 Question Id : 54592730518 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ISRl T Uk Ulod H TATH, TREH & 129 T W & 3T
AT € 199 TUTT W & ofSehl hT GEAT Gierd H SIfdel TRe &
14a1 § 3 379 & 20aT g1 g diFadl # U A1 For fohelal

1. = 72
2. = 65
3. v 63
4. = 67

Question Number : 17 Question Id : 54592730519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Abhimanyu is son of Anil’s father’s sister. Prakash is son of
Trisha who is mother of Vikash and grandmother of Anil.
Hansh is father of Neela and grandfather of Abhimanyu.
Trisha is wife of Hansh.

How is Abhimanyu related to Trisha?

Options:

1. v Grandson

2. % S0n

3. = Father

4. = Data Inadequate

Question Number : 17 Question Id : 54592730519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AR, ool & AT Fr F&eT T TF &1 WehTer, I T I
g ot Tor Tashra &kt AT § 3 3tfarer T ST / 60T 1 89,
aftell & OaT & AT 31faAg & arer / arer g1 qwr, &9 &
el gl

AR, I & vy wohR Fosifa &7

Options:

1. v 9Idar

2« T

3. = fuar

4. = 3aT 3¥9IeT § (Data Inadequate)

Question Number : 18 Question Id : 54592730520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In given questions, there are given three statements followed
by two conclusions numbered I and II. You have to take the
given statements to be true even if they seem to be at
variance from commonly known facts. Read both the
conclusions and then decide which of the given conclusions
logically follows from the given statement disregarding
commonly known facts.

statements:

I. All stars are planets.

I1. All planets are moons.

III. Some planets are comets.
Conclusions:

I. All stars are moorns.

II. Some stars are comets.

Options:

1. v If only conclusion I follow

2. = If only conclusion II follows

3. = If either conclusion I or II follows
4. = If neither conclusion I nor II follow

Question Number : 18 Question Id : 54592730520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A fow are wed A AT FUA R 3T g o TRy | 3T |
fow 917 & 3R ST 910 Ul 1 T AT § HoF &7 g
gaard azat 8 fies gdia a8a & 3R o g fifee o fgo
T foshst & & i - I7 kY Foel &1 JHTT 59 &
HATIOT FIAT &, e FAAT T2 FS AT &l

<h o

. | dr, I B

I. g+ 718, <e g
Il. & 7E AT &

IGREF
. Tl an, die &I
I _;W?-Iﬁ', qHb &

Options:

1. v I ael [ashy | 3HTEOT Tl g

2. % g shael Toshy | 3HTEOT Il &

3. = g ar o fersh§ | A7 || 3HFHTOT HIAT B

4, « Ffe o o fasepd | 3T o &7 || 3fefawor e §

Question Number : 19 Question Id : 54592730521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




In the following question, there is a statement followed by
two courses of action, numbered I and II. You have to assume
everything in the statement to be true to decide which of the
two suggested courses of action logically follows for pursuing

Statement:
I. Children are eating more junk food than ever before, their
health has started suffering.

Course of actions:
I. Put additional tax on junk food making it costly.
II. Ban sale of junk food in and around schools.

Options:

1. = Only I follows.

2. = Only II follows

3. = Either I or II follows.

4. v Neither I nor II follows.

Question Number : 19 Question Id : 54592730521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T ued AU FUT & &g g g | 3T 1| &
3TIRT ST FUeT I Tcd ATl FT dF Flell & T o =T T
FRdle # & Hhid AT drfehes §T & Tl &l

o
. g ggel d SUET Sk §E AT |, 3l Agd W T

Y USa oET &

FRIGIEAT;
. S 5 W ITARFT F R F 38 HGI TV |
I TFell # 3T 3MHIE STk F5 Hr fashr @@ gidee)

Options:

1. = ohddl | 3HTEROT Tl &

2. % ohddl |l HATLOT Tl g

3. % I AT | AT Il 3HTEIOT HFTAT &

4. v o A | 3R Er |l TET0T FIAT &

Question Number : 20 Question Id : 54592730522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the following series.

17,18,22,31.47,?

Options:

1. = 55
2.v 72
3. % 54
4. % 65



Question Number : 20 Question Id : 54592730522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faeefafaed s@rem «r @ +i:

17,18,22,31.47,7

Options:

1. = 85
2. v 72
3. = 54
4. = 65

Mental Ability?2

Group Number : 2
Group Id : 5459271512
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Mental Ability2

Section Id : 5459271512

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1

Sub-Section Id: 5459271814



Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592730523 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the wrong term in the given series:

8, 20, 56, 165, 488

Options:

1. % 8

2. % 20
3. = 56
4 v 165

Question Number : 21 Question Id : 54592730523 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&T 35 e H T 9§ AT

8, 20, 56, 165, 488

Options:

1. = &
2. = 20
3. = 56
4. v 165

Question Number : 22 Question Id : 54592730524 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2w av Jreul & O fHea {-i{se.uslfr?:lﬁl

Options:

1. = 24
2. % 12
3. = 36




4. v 27

Question Number : 22 Question Id : 54592730524 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given options:

Options:

1. = 24
2. % 12
3. % 36
4. v 27

Question Number : 23 Question Id : 54592730525 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd number pair from the given options:

Options:

1.« 9:64

2. % 25216
3. %49 :512
4.+ 56:1331

Question Number : 23 Question Id : 54592730525 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2w av Jreul & O fHea {-i{se.uslfr?:lﬁl

Options:

1. = 9 : 64

2. = 25 1 216
3. = 49 : 512
4. v 56 : 1331

Question Number : 24 Question Id : 54592730526 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd number pair from the given options:



Options:

1. 24:6: 642
2.% 36:8:863
3.%15:9:951
4. v 29:8:108

Question Number : 24 Question Id : 54592730526 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ew a7 [aheul A O THeed T&AT HI o)

Options: 7
1. = 24 : 6 : 642
2. % 36 : 8 : &63
3. » 15 : 9 : 951
4, v 29 : 8 : 108

Question Number : 25 Question Id : 54592730527 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number from the given alternatives.

(51, 15,12)

Options:

1. = (42, 30, 6)
2.v {42, 30, 4)
3. = {42, 30, 2)
4. = (42, 32, 4)

Question Number : 25 Question Id : 54592730527 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fFafa@a mead & U a0 [@redl # O gFeiedd
ET/SS/TTAT <hl gf&ul

(51, 15, 12)

Options:

1. = (42, 30, 6)
2. v (42, 30, 4)
3. = (42, 30, 2)
4.« (42, 32, 4)

Question Number : 26 Question Id : 54592730528 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing number.

3161|120 (237 1470 | 2

Options:

1. = 910
2. % 985
3. =925
4. 935

Question Number : 26 Question Id : 54592730528 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oICd T&AT ATT

3161|120 (237 | 470 | ?

Options:

1. = 910



2. = 985
3. = 925
4. v 935

Question Number : 27 Question Id : 54592730529 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct combination of mathematical signs to
replace * signs and to balance the given equation:

16*4*8%*4*8
Options:
1 &= +x - =

7 ow X -+ =

3.8+ =+ X

Question Number : 27 Question Id : 54592730529 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

+ hdl I Fcola AT T 0 GHRIOT F) Hgl:'l'&d el
forw aITUTdr Tehal o Tar TAIeTd &l T

16 « 4 8 « 4 % 8

Options:

A% + = + X

4. v - X + =

Question Number : 28 Question Id : 54592730530 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the question given below, there is a statement followed by
two conclusions. You have to take the given statement to be
true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusion
logically follow(s) from the given statements.

Statements:
L]<Kz20=72

Conclusions:
L.L]>Z
II.Z =K

Options:

1. = Neither conclusion I nor conclusion II is true
2. » Either conclusion I or II is true

3. v Only conclusion II is true

4. = Only conclusion I is true

Question Number : 28 Question Id : 54592730530 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



SR fRw aTe et H, U FU F 1 oy fovw§ | ey fou
AT HU Pl oI Al &, Hol &I T JH dX W AT T4 +
gre faeRor s & AN e au Y Tk fqu a0 v 7 &

Flel AT fAshy TTfoheh T F 3HTEIOT FIAT B

. J > Z
. £ = K

Options:

1.« o & forsad | 3T o & o || & &
2.« grar foshy | a1 |l T &
3. v &ad ey || O &

4. » hael T&I5FY | T &

Question Number : 29 Question Id : 54592730531 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd number from the given options:

Options:

1. = 514

2. % 1333
3.« 1002
4. % 1732

Question Number : 29 Question Id : 54592730531 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



feu arv faskedt 7 & foee T@AT F |

Options:

1. = 514
2. = 1333
3. v 1002
4. = 1732

Question Number : 30 Question Id : 54592730532 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following diagrams best represents a
relationship among Engineer, Software engineer and
Chemical engineer?

Options:

Ne/e

2.

4, =



Question Number : 30 Question Id : 54592730532 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

i@ & & i a1 T seifam, aredd ST 3T
TaRfa® Selllady o AT 89 &7 Aidfaidcg a&dr &7

Options:

1_::@0

2. ¢

Question Number : 31 Question Id : 54592730533 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the given figure, the circle represents person who have
Current account, rectangle represents Fixed account, and
Square represents Salary account and triangle represents
Saving account. Which number represents the group of
person having current account as well as salary account but
do not fixed account and saving account?

10

Options:

1.+9
2. %7
3.%6
4, %4

Question Number : 31 Question Id : 54592730533 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



& T IMHTa A, Ied 3T AFaar F1 vfafafdes Far &
foletsh oy <ITe] @Tar &, 3d fafRead @ra &1 uidfafdca
FLaT &, 3N gt 3aa @ 1 uiafafaa swar § 3w Beor
SO T T Tl Tded FT &1 Hied G F&AT Ao T -
HI-E1Y Aol T el AT & HHE 1 Fidladided Hal §
olfchal TalleTd TTAT 3T §Id FTAT dlel SATadAl T Ial &7

10

Options:

1. v 9
2. % 7
3. » 6
4. = 4

Question Number : 32 Question Id : 54592730534 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In following question, set a four figures forming the problem
figure and four other answer figures Select a answer figure
which possess the same characteristics.

Problem Figures:

Zeld) ?

Options:




21D

Question Number : 32 Question Id : 54592730534 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl wesT A, IR 07 92 3Mhid # 3R IR Scai-
3T & 7 & GV 710 §1 38 e 3MFiad T el w oaa
AT TRvar gl

o g

=~ Ok

Options:

1. N

)




4, v (D

Question Number : 33 Question Id : 54592730535 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The second figure in the first unit of the problem figures
bears a certain relationship to the first figure. Similarly, You
have to select that figure from the set of answer figures which
would come in the place of question mark (?)

Problem Figures

X

1

Options:

' [S]

3 4

1. v

x| ¥ &]| %




H

4. =

Question Number : 33 Question Id : 54592730535 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UesT 3T & Tgel AC T GELT 3T, 9o 3hicd & Teh
fATeTd el AT § | 38T Ik @, 39 e 3MFiT &
HC & 3H 3Mpicd I AT Hlall BT S weal eal (?) &
TTed 9T HTUIITI

e IR

X&) ||

1 2 3 4
Options:

S
.18
(-4




D

Question Number : 34 Question Id : 54592730536 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose an appropriate figure from the four numbered figures
for the place of the questions mark (?).

Problem Figures:
R R B ?
Options:

B (B B &

Question Number : 34 Question Id : 54592730536 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



weal fRIEel (?) & T W 3ol 3Thd & ¥ H T 3fed

bt

IEAGECE]
C o

WRA ITHe:

BB ?

Options:

B B B &

Question Number : 35 Question Id : 54592730537 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following questions, element (i1) is related to element
(1) In a particular way in four pairs of figures. Find out the
pair of figures in which the element (i1) is not related to
element (1).

Options:

A A,

Ale,

4. v

Question Number : 35 Question Id : 54592730537 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frraferi@a aeall #, 3pfd & IR #ET A Jea (i) dea () @
Ueh [T 9oh & HEAT &1 3o 3Thid SIS T 9T oM
oot/ dca (i), dca () & gafaa g1 § |

Options:

JINEY:

1. = i i




Ale,

Question Number : 36 Question Id : 54592730538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct water image from the given alternatives.

MUNDANE

Options:
1. = EUNDANM

9 % EUMDANM
3 WNMDVME

4. % 3NVONNW

Question Number : 36 Question Id : 54592730538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fgw a0 fasedt & & 3Mpfa F7 T 96T T ofd 3T ad
HIeT]

MUNDANE

Options:
1. » EUNDANM

2 % EUMDANM

3. » WNVDVME

4. % 3NVANNW

Question Number : 37 Question Id : 54592730539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question a piece of paper is folded in the
manner shown in the question figure(s). Select the figure
showing the unfolded pattern after the punches (cut).

Question Figure:

Options:

L 0O
L

1. = o+



o 0O
O

2.xL_0

o 0O
E
3 v b_o
7 0O
l“l
4'QD -

Question Number : 37 Question Id : 54592730539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFaafelf&d IeaT # Ush FETT & gohg kI URa 3THfd H geiw
AT Ik & AIST IR—T &1 e & &S UTod Yol hl 2T arol
3ccl fdshedl # & 3THid T ThaT HL

T HTFR

.

Options:

1. = lo_x

o 0O

o 0O
3. v oo




Question Number : 38 Question Id : 54592730540 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question a piece of paper is folded in the
manrner shown in the question figure(s). Select the figure
showing the unfolded pattern after the punches (cut).

Ouestion Figures

Options:

=3
1. v L=
2. %

5o L]
1o b

Question Number : 38 Question Id : 54592730540 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



foaaifelT@&e qeaT & Ush FETST & gohg h TRa 3THfd H el
AT Ik & AST IR—T &1 e & FI Ted Uea i c2ife aret
3ccl fashedl # & 3THId T TheT HT

Question Number : 39 Question Id : 54592730541 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question an unfolded dice is given . From the

given alternatives which of the following will be opposite of 7
?




Options:

1.« U
2.vT
3.% L
4. = K

Question Number : 39 Question Id : 54592730541 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feaafelf@d eat A veh Zom rar fear o m &1 v 1w fashed
H O Sl @r 7 & @aoda geme?

3
T|K
I
5

7]

Options:

1. = U
2. v T
3. = L
4, = K

Question Number : 40 Question Id : 54592730542 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Count the number of blocks in the given figure.

in

Options:

1.2 6
2. ¢ 7




3.% 8
4 %9

Question Number : 40 Question Id : 54592730542 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T [T 3{The H solleh] hl T&IT ATd HI<IC|

Options:

1. = 6
2. v 7
3. = 8
4, = 9

General Awarenessl

Group Number : 3
Group Id : 5459271513
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness1

Section Id : 5459271513
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory

Number of Questions: 20



Number of Questionsto be attempted: 20

Section Marks:; 20
Sub-Section Number: 1
Sub-Section Id: 5459271815
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54592730543 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following dances is not correctly matched with
the region it is related to?

Options:

1. = Chholiya — North India
2. = Gotipua — East India

3. v Padayani — West India
4. = Kummi — South India

Question Number : 41 Question Id : 54592730543 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafaf@d # & ola &7 7 39 &7 & §&I §9 & Aol olal

Options:

1. = BITRIT - 3cal WA
2. = AMEY3 - qdf AR
3. v USHIET - Ulegd TRd
4. = FFAT - SAEOT AT

Question Number : 42 Question Id : 54592730544 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mando is a very popular regional music of

Options:

1. = Odisha
2. v (304




3. » Rajasthan
4. = Bihar

Question Number : 42 Question Id : 54592730544 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HIET Uk Sgd O &g Jald &

Options:

« 3Mfer
2. v anar
3. % JTSIEdTe

4. = ToER

Question Number : 43 Question Id : 54592730545 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I.ai Haroba is one of the main festivals and a folk-dance of

Options:

1. » Assam

2. v Manipur
3. » Mizoram
4. = Meghalaya

Question Number : 43 Question Id : 54592730545 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

g EUST FET & FEI BRI 3T Aldh-afcd A § TF &7

Options:

1. = 3GHA

2.&?@
3. » fASRH
4, = Ao




Question Number : 44 Question Id : 54592730546 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The India Gate was designed by (1) after the (ii) :

Options:

1. v (1) Edwin Lutyens (11) World War I
2. = (1) Edwin Lutyens (ii) World War II
3. » (1) Herbert Baker (i1) World War I

4. = (1) Herbert Baker (1i) World War II

Question Number : 44 Question Id : 54592730546 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T A+ (i) * &g (i) ZaRT T3arga foraT
91T 2T

Options:

1. v (i) vsTaer dfeae (i) vadA faeT Ig
2. = (i) vsfaa offeaw (i) fegda faeg Ig
3. = (i) goc IR (i) wuH faeT Ig

4. = (i) g§& S92 (i) g fieg I=

Question Number : 45 Question Id : 54592730547 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How much Tax Deducted at Source (TDS) has been applied on
cash withdrawal exceeding Rs. 1 crore in a year from a bank
account by the Union Budget 2019?

Options:

1. = 1 percent

2. v 2 percent
3. = 3 percent
4. » 4 percent

Question Number : 45 Question Id : 54592730547 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

el sofc 2019 ZaRT <k TTd & Teh a¥ H 1 HUs *9T &
3T T Tk Toohrdl 9T fohdel Gld 9T T Heldr
(STSTUH) ST 1T &7

Options:

1. = 1 gfcerd
2. v 2 yfaerd
3. = 3 yfererd
4. % 4 giaerd

Question Number : 46 Question Id : 54592730548 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A chapter in the Economic Survey 2018-19 is named
“Nourishing Dwarfs to become Glants”. What does the
“dwarf” symbolize?

Options:

1. »* Women
2. v MSMEs (Micro Small and Medium Enterprises)
3. » Below Poverty Line people

4. = Foreign Investors in India

Question Number : 46 Question Id : 54592730548 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR TATET 2018-19 o Uk IR T oTH & “BIel &l
NI™T F, oo AT TATAT IZTHH "B T T Tdld o7

Options:

1. = &7
2. v THAVHUAS (Y&A o IR AeH 323A)
3. % ILET W F A F el




4. » ART #H Tadeir faaerh

Question Number : 47 Question Id : 54592730549 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

As per the Economic Survey 2018-19, the global economy
grew at (1)___ in 2018, while the Indian economy grew at
(1I)__ In the same year.

Options:

1. = {1) 3.8 percent (1) 7.2 percent
2. v (1) 3.6 percent (11) 6.8 percent
3. = (1) 3.8 percent (ii) 6.8 percent
4. = (1) 3.6 percent (11) 7.2 percent

Question Number : 47 Question Id : 54592730549 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T TATET 2018-19 F HJAR, IRk srdfeaaear 2018 A
(i) 9§, Safh G 3Tdegaedr 387 av (i)
g Sar|

Options:

1. = (i) 3.8 gfaerd (i) 7.2 wfera
2. v (i) 3.6 wfaerd (i) 6.8 ufcrera
3. = (i) 3.8 wfcrerd (i) 6.8 Afcrerd
4. = (i) 3.6 wfaerd (i) 7.2 ufcerd

Question Number : 48 Question Id : 54592730550 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A simple electric circuit in which a straight copper wire Is
placed parallel to and over a compass needle. The deflection
in the needle becomes (1) when the direction of the
current is (1i)____ .

Options:



1. = (1) in same direction, {il) reversed

2. v (1) opposite, (11) reversed

3. = (1) opposite, (1) in the same direction
4, = (1) Zero, (i1) reversed

Question Number : 48 Question Id : 54592730550 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk Tl faegd aRuy forad foell o did & R TR
fesFeEll & FW AT 3HHT S F AL &7 =7 §| S R A
faega amT & wars @ fer (i) BT & ar feeadr # fEey
() & g gl

Options:

1. = (i) 347 Te=m &, (i) 3chfad

2. v (i) fo9dia fgem &, (i) 3chiAa

3.« (i) Taudiaq f&em &, (i) qg f&em & @AW
4. = (i) =7, (i) 3iad

Question Number : 49 Question Id : 54592730551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Chemical name of vinegar is (1) and Baking soda is
(11) :
Options:

1. = (1) Copper sulphate, (i) Potassium hydrogencarbonate

2. = (1) Iron sulphate, (i1) Potassium hydrogencarbonate
3. v (1) Acetic acid, (i) Sodium hydrogencarbonate
4. = (1) Acetic acid,(1i) Copper sulphate

Question Number : 49 Question Id : 54592730551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



faTeRT *1 TaEfas a1 (i) g 3R = 7 GIET FT AT
iy &l

Options:

1. = (i) SN Tethe, (i) NETH gSsloladhaiac
2.« (i) AT Tothe, (i) TRRIA gESIoAHEe
3. v (i) vRARRE 3¢ , (i) OI3TH BESIdRIEielc
4. » (i) vfafes 3 | (i) F9T Tethe

Question Number : 50 Question Id : 54592730552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The process of taking food in the body is known as:

Options:

1. = Digestion
2. = Egestion
3. v Ingestion
4, = Absorption

Question Number : 50 Question Id : 54592730552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MEN Al eI & 3T old hT [oFAT AT AT Fgd &7

Options:

1. % UIeT d3

2. = foTSehrddd
3. v 3Td3gur
4. = 37FYOT

Question Number : 51 Question Id : 54592730553 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the cause of phenomenon “Marble
Cancer”?



Options:

1. = Volcanic eruption

2. * Hole in the ozone layer
3. v Acid Rain

4. = Global warming

Question Number : 51 Question Id : 54592730553 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT ™d H & i T Heall "HIAIAT Hay" T HRUT &7

Options:

1. = SATenAET AEme

2. % 3SleT T H Dg

3. v 3o aul

4. » Tgeg FoUTd (Foleel gira)

Question Number : 52 Question Id : 54592730554 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If you visit a garden you will find different plants and
animals. All these living organisms interact with each other
and their growth, reproduction and other activities are
affected by the abiotic components. So, garden Is an example
of:

Options:

1. = Food Web

2. = Food Chain

3. v Artificial ecosystem
4. = Natural ecosystem

Question Number : 52 Question Id : 54592730554 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Ife 3T Uk F9 H AT & ar 39l [feed 9t 3w Serae
fHelatl I8 O Il W HeAIeTshal  hdd & 2T Solehl
gi& , Sl Ua 376 fohdTehellT & 37o1d HCeh! GaRT AT
gl &1 dr, ST TohdehT U 3TIEI0T &7

Options:

1. = B STl

2. = 3B Tell

3. v FEAA IS
4. = GTpfceh IR

Question Number : 53 Question Id : 54592730555 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The F diagram of sanitation depicts how germs spread and
how that can be prevented. Which of the following is not a
part of F diagram?

Options:

1. = Fluids
2. = Fingers
3. = Flies

4. v Flush

Question Number : 53 Question Id : 54592730555 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS T U6 (F) 3RG FdT<m & fof Tqamo] 8 Herd & 3R
=8 FH UHT ST TohaT &l Aeel@a & & Fid tF (F) 3RE
T feedT ol &7

Options:

1. = Fo[gs (el vary)
2. % Tpared (FaTelY)




3. » Tolls (HATET)

4. v Felel (F&T Sal)

Question Number : 54 Question Id : 54592730556 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ascaris is a parasite of :

Options:

1. = Throat
2. » Mouth
3. v Intestine
4. = Kidney

Question Number : 54 Question Id : 54592730556 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UEah ] T AT &l

Options:

1. = dTell

Question Number : 55 Question Id : 54592730557 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Innate immunity is:

Options:

1. v Present at the time of birth

2. » Develops after 12 years of age
3. » Develops after 25 years of age
4. = Develops after 50 years of age

Question Number : 55 Question Id : 54592730557 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Ta<T UTaa |

Options:

1. v Sed & AT AlSE 8ar &

2. = 12 Grel T 37 & &I [GRAd gdar &
3. * 25 el & 37 & &G [Ahidd aar g
4. = 50 ¥ T Y & F fawfad grr &

Question Number : 56 Question Id : 54592730558 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which of the following pairs of states does the river
Narmada flow?

Options:

1. = Madhya Pradesh and Uttar Pradesh
2. » Chhattisgarh and Odisha

3. v Madhya Pradesh and Gujarat

4. = Rajasthan and Gujarat

Question Number : 56 Question Id : 54592730558 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TiFeiTold # & il & Tl & SiIg H FAHGT oIl Tl &7

Options:

1. = HET Udel 3T 3cdd udem
2. = Tcargares 3T affEem
3. v AT YT 3R IR

4. = JToTEATaT 3T TSI

Question Number : 57 Question Id : 54592730559 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following physical features have the hill station
Mussoorie?

Options:



1. ¥ The Himachal and Uttarakhand Himalayas
2. » Kashmir or Northwestern Himalayas

3. = The Darjiling and Sikkim Himalayas

4. = The Arunachal Himalayas

Question Number : 57 Question Id : 54592730559 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ot 7 & fra silfaes smpfa & fRer worar Al &7

Options:

1. v @A 3N 3cau@s BA

2. = AN IT YETAICAY BAT
3. = glaireldr 3T RfFwa Barew
4.

x 3BUTTl TedAToY

Question Number : 58 Question Id : 54592730560 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is not a method of soil conservation?

Options:

1. = Mulching

2. = Intercropping
3. » Shelter belts
4. v Exfoliation

Question Number : 58 Question Id : 54592730560 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao Ed & & i Tr fAST TIEIUT T Uk alIhT oTel &7

Options:

1. = Hed Folladl
2. % &I hT T 3]

3. % T&Teh ATV




4. v HTeTeha

Question Number : 59 Question Id : 54592730561 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the following crops is the major food crop in the
world and is the staple diet of the tropical and sub-tropical
regions?

Options:

1. v Rice

2. = Wheat
3. = Millets
4. = Maize

Question Number : 59 Question Id : 54592730561 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faraeli@T & @ Fid AT wHel 927 $T THD T HhT §
3 SSUTREEr T SUISURR e &6l T HTT BN &7

Options:

1. v didel
« Mg

2.
3. % STolNT
4,

®  Hepehl

Question Number : 60 Question Id : 54592730562 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the following countries are arranged in decreasing order of
their population, then what will be the correct sequence?

Options:

1. = China, USA, Indonesia, India
2. = India, China, Indonesia, USA
3. v China, India, USA, Indonesia



4, = India, China, USA, Indonesia

Question Number : 60 Question Id : 54592730562 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Ife e 290 T 3eTehl TTEEAT & Ocd FH H gead mar

STdT &, Y Tar A AT BIEM?

Options:

1. = e, 3ARFT F TFFT T, AT, AT
2. « A, Aef, ZEARAT, AN & TIFT T

. v I, AN, JARFT F TFFd T, FSIARET

3
4. « AR, Href, AT & TIFT T, F8Ia AT
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Show Attended Group?:
Edit Attended Group? :
Break time:

Group Marks:
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5459271514
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0
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5459271514
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Online
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20
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5459271816



Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54592730563 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following states does not share its borders with
Pakistan?

Options:

1. = Rajasthan
2. = Punjab
3. v Harayana
4. = Gujarat

Question Number : 61 Question Id : 54592730563 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

mTeET A & i Or T IIREdlel & 1Y 3TeT STATAT
hI HISAT oGl hIcT &7

Options:

1. = JTSTEATA

2. % ol

3. v aITol
4. = FToNIT

Question Number : 62 Question Id : 54592730564 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements about the Rigveda is
incorrect?

Options:

1. = It contains more than a thousand suktas

2. = The hymns were composed by sages

3. v All the hymns were composed by men

4. = These hymns are in praise of various gods and goddesses



Question Number : 62 Question Id : 54592730564 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FIdE & TR H ToFdelidd # & Sid 9T FAd ITold &7

Options:

1. » SHH U gaR & 3Tk o AT &
2. % 8Tofel FINAT EGRT T T 2

3. v @l #eTel NI TaRT & a0 I

4. = I Al faffieet Sd-daansit &1 T A7 &

Question Number : 63 Question Id : 54592730565 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Consider the following schools of Indian philosophy and
identify the option not correctly matched with the founder of
that philosophy.

Options:

1. v Samkhya — Konada

2. » Nyaya — Gotama
3. » Yoga — Patanjali
4. = Purva Mimansa — Jamini

Question Number : 63 Question Id : 54592730565 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRART 20 o TaFaaTeliEd ggfd W 9 Y 3 39 g2l &
OTATIFH & TET &7 T Aol dIal Tlel arel dehed hl UgATT il

Options:

1. v G&T - hiad]
2. = T - JNCTAT
3. % T - UdaATol
4. = qaT #AAMNET - SIfAeT

Question Number : 64 Question Id : 54592730566 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Which time-period belongs to the Khalji dynasty?

Options:

1. » 1206-1236
2. v 1290-1320
3.+ 1320-1414
4. % 1414-1451

Question Number : 64 Question Id : 54592730566 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TreraiT ger 1 999 g GAI-379TT O &7

‘Ip. = 1206 - 1236
2. v 1290 - 1320
3. = 1320 - 1414
4. = 1414 - 1451

Question Number : 65 Question Id : 54592730567 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Mughal emperor had a brother called Mirza Kamran,
who conspired against him?

Options:

1. = Babur

2. = Akbar

3. v Humayun
4. = Jehangir

Question Number : 65 Question Id : 54592730567 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fore Tt WHTC FT AT FIATS ATHE Uk o5 o1, oide
39 T&eme arferer &P




Options:

1. = ST

2. % 3hal
3.&3@1@\
4 « SRR

Question Number : 66 Question Id : 54592730568 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Holt Mackenzie devised a new system of (1)___ that came into
effect in the year (i1)__.

Options:

1. # (1) education (ii) 1816
2. v (1) revenue (ii) 1822
3. = (1) education (ii) 1830
4. = (1) revenue (ii) 1832

Question Number : 66 Question Id : 54592730568 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gleec Haholl & () T TF & WOl IR FT ST a¥ (i)
_ H

1p. « (i) for&T (i) 1816
2. v (i) TrET (ii) 1822
3. = (i) T (i) 1830
4. = (i) TerET (i) 1832

Question Number : 67 Question Id : 54592730569 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Vandemataram Movement was started in protest of

Options:

1. = The Morley Minto Reforms of 1909



2. v The Partition of Bengal of 1905
3. * The hanging of Bhagat Singh in 1931
4. = The killing of Lala Lajpat Ral in 1928

Question Number : 67 Question Id : 54592730569 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JeHTALH 3ol & Taorer & UAE foraT T A

Options:

1. = 1909 T Alel HeI Fur

2. v 1905 &1 §9mer astrateat

3. » 1931 & o91d T =T wET

4. % 1928 H oo dTa9d I T &AT

Question Number : 68 Question Id : 54592730570 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following companies is not matched with its
founder/co-founder?

Options:

1. = Infosys — Nandan Nilekani

2. » Wipro — Azim Prem)ji

3. v Ola — Nilanjan Roy

4. = PayTM — Vijay Shekhar Sharma

Question Number : 68 Question Id : 54592730570 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

@ & @ Sl IT GIod 39 GEATIF / JE-GETdh
& TTT A ol TTdT §7

Options:

1. % ZeRITAH - g aATelholl
2. = a9 - 37SH WA



3. v eIl - sielTolel T
4. » UAIUH - O A@L AT

Question Number : 69 Question Id : 54592730571 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Prime Minister Narendra Modi was awarded the (1) ,
which is the highest civilian honour of (i) in April 2018.

Options:

1. = (1) Grand Collar medal (ii) Saudi Arabia

2. v (1) Zayed medal (i1) UAE

3. = (1) Zayed medal (iii) Maldives

4. = (1) Order of Abdulaziz Al Saud (ii) Palestine

Question Number : 69 Question Id : 54592730571 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTIHAT aig AT o () & GFANAG [hdr a->r, ar
YT 2019 & (i) T Gafea ARG FHATT &l

1p. x (i) AT Plel Y&k (i) THar 3N

2. v (i) S U (i) IUs

3. = (i) 9I¥E 9Ea (i) ATeCT

4. = (i) 3MST 3HH 3Hsqelatellsl 3ol T3e (i) TRlerEcTer T amder

Question Number : 70 Question Id : 54592730572 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who is the author of the book ‘1 Do What I Do™?

Options:

1. * Sachin Tendulkar
2. » Shashi Tharoor
3. v Raghuram Rajan




4, « Nandan Nilekani

Question Number : 70 Question Id : 54592730572 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qEsh '3Ig § TEIE AZ § F oAGeh Hid §7

1. = Gl d“%oicw{
2. = 91T U

3. ¢ TETH Tole
4. = oIGal ailTelehull

Question Number : 71 Question Id : 54592730573 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following books is not an autobiography?

Options:

1. * Wings of Fire

2. = Mein Kampf
3. = The Race of My Life
4. v Paths of Glory

Question Number : 71 Question Id : 54592730573 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farAfali@d & @ Fid A1 qeas U McARAT 6l 87

Options:

1. = 99T 3% BT

2. = Hel HIFH
3. » & I 3% AT dBH
4. v UT2H 3R ToINT

Question Number : 72 Question Id : 54592730574 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following organizations is India not a member
of?

Options:

1. v NATO
2. % SCO
3. = G20
4. = BRICS

Question Number : 72 Question Id : 54592730574 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

@ aT # @ $id § TG FT ARG TSTT dal &7

Options:

1. v NATO
2. = SCO
3. = G20
4. = BRICS

Question Number : 73 Question Id : 54592730575 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who is the woman scientist to have won a Nobel Prize for
both Chemistry and Physics?

Options:

1. = Linda B. Buck

2. v Madame Marie Curie
3. » Aung San Suu Kyl

4. = Maria Goeppert Mayer

Question Number : 73 Question Id : 54592730575 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

a8 ATGeT dAlleleh il & oie T AT Hifaehr gt &
ferw Alder qIEhR SiT &7




Options:

1. = ToIsT & &k
2.%%%@

3. * 39T HIeT G T
4. = AT MUIC AT

Question Number : 74 Question Id : 54592730576 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Articles of the Indian Constitution
provides for an independent office of the Comptroller and
Auditor General (CAG) of India?

Options:

1. = 145
2. % 146
3. = 147
4 v 148

Question Number : 74 Question Id : 54592730576 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT TG & fdrallai@d & & Hid AT e IRT &
faae 3 AgreEr giieTe (e & folv U Taad Srared

UaTol ahicl &7

Options:

1. = 145
2. = 146
3. = 147
4. v 148

Question Number : 75 Question Id : 54592730577 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What is the maximum number of terms that a person can be
elected as the President of India?

Options:

1. = 2 times

2. = 3 times

3. = 1 time only

4. v Any number of terms

Question Number : 75 Question Id : 54592730577 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fordll SIfFT I AR o TSCUTT o §T H HTOhdA fohdell IR

TAT ST Fehel g 7

Options:

1. = 2 9

2. &« 3 X
3. = hael 1 §T
4. v Trder #F a7

Question Number : 76 Question Id : 54592730578 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following words was not added to the Preamble
of the Indian Constitution by the 42nd Constitutional
Amendment Act?

Options:

1. = Socialist
2. = Secular

3. = Integrity
4. v Fraternity

Question Number : 76 Question Id : 54592730578 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TraTeliad # & Sl 9T eeg 429 HauTlash TN HTATITH
SONT AR HIGUTel hl GGl H sTal sl I-7 o47?

Options:

1. = AR
2. » gH Ao
3. % 3EEAT

4.@341@&'

Question Number : 77 Question Id : 54592730579 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is not a feature of the Regulating Act
of 17737

Options:

1. = It designated the Governor of Bengal as the ‘Governor-
General of Bengal’

2. = It provided for the establishment of a Supreme Court at
Calcutta

3. » It required the Court of Directors to report on revenue,
civil and military affairs in India to the British Government

4. ¢ It introduced a system of open competition for selection
of civil servants

Question Number : 77 Question Id : 54592730579 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafel@a & & i @1 1773 & RAfegaa yfafeEas $ir
faetyar s1@r 87

Options:

1. * Sl SISl ok T I 'FAMSA b ITeL-oTeel & T H
ATt Tohar 2Tl



2. % ST holshcdl H TG AT shl TATTT & foIw
TTaelTeT e

3. » SN ART H Toreg, arPw T T AFer W fWfeer
TLFR Fr ONE e & T [Aderen & T9-23@ T
HTFeTRAT 2T

4. v 3He Tslaifcih HellfHT & =Fel &k Tow Fell wfaanfarar
hT WUTTeIT 92T hT|

Question Number : 78 Question Id : 54592730580 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Indian sportsperson is also known as
the Dhing Express?

Options:

1. v Hima Das

2. = Dutee Chand

3. * Muhammad Anas
4. = Neeraj Chopra

Question Number : 78 Question Id : 54592730580 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eIt # @ T ARG TROTaT T 97 vaavd & o1 4
AT ST ST &7

Options:

1. v AT a9
2.« g T

3. * HEFAS 3d

4. = A< AT

Question Number : 79 Question Id : 54592730581 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



(1) has won the Copa America 2019, by defeating (ii) :

Options:

1. = (1) Brazil (i) Argentina
2. = (1) Peru (11) Chile

3. v (1) Brazil (ii) Peru

4. = (1) Argentina (ii) Chile

Question Number : 79 Question Id : 54592730581 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

(i) & (i) T EIRT HIAT AT 2019 Shar &
I

1p. % (i) §Teer (i) 3TSicraT
2. = (i) 9% (ii) =i

3. v (i) dreie (i) 9%

4. = (i) 33T (i) foelr

Question Number : 80 Question Id : 54592730582 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In tennis, how many tournaments come under Grand Slam?

Options:

1. % 2
2.% 3
3.v4
4. %5

Question Number : 80 Question Id : 54592730582 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

i A, 35 TolA & dgd fohda gHTHS 3 87

1. = 2




2. % 3
3. v 4
4. = 5

Arithmetic Ability1
Group Number : 5
Group Id: 5459271515
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 5459271515
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20

Sub-Section Number:
Sub-Section | d:
Question Shuffling Allowed :

1
5459271817
Yes

Question Number : 81 Question Id : 54592730583 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the

following question?

2.03 percent of 1400 + 4.2 percent of 450 =7

Options:



1. = 18.09
2. % 10.33
3.% 2442
4, v 4732

Question Number : 81 Question Id : 54592730583 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faFTe&d e # uesTares Reg (?) & TATT 9T FIT 3T

aTfge?

1400 =7 2.03 ufdera + 450 =T 4.2 ufderd = 72

Options:

1. = 18.09
2. = 10.33
3. = 24.42
4. v 47.32

Question Number : 82 Question Id : 54592730584 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

40 percent of 680 + 35 percent of 500 — 10 percent of 100 x 5
percent of 500 = ?

Options:

1.+ 197
2. % 195
3. =199
4. % 192



Question Number : 82 Question Id : 54592730584 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATt T U2sT H Uelardes eg (?) & TUTT 9T FAT 3HTa]

AT

680 T 40 wfdrerd + 500 7 35 ufdera - 100 &7 10 wfdera
x 500 T 5 ufgerd = ?

Options:

1. v 197
2. = 195
3. = 199
4. = 192

Question Number : 83 Question Id : 54592730585 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

S of 2 of Z of 7=1112

Options:

1. = 3575
2. v 3475
3. = 3425
4. % 3215

Question Number : 83 Question Id : 54592730585 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T wesT H weeTares g (?) & TUTT UT FAT 3Te]

aqTigT?

2T 2T ?arg =1112
Options:

1. = 3575
2. v 3475
3. = 3425
4. = 3215

Question Number : 84 Question Id : 54592730586 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

300 200 100 SD—:'

T T T T
Options:

1. = 40000
2. v 30000
3. = 35000
4. = 50000

Question Number : 84 Question Id : 54592730586 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et Ul H URelarer [eg (?) & TAUTT 9T FAT el
TAMET?

300 200 100 ED_?

10 10 A 10 ><:I[II :
Options:



1. = 40000
2. v 30000
3. = 35000
4. = 50000

Question Number : 85 Question Id : 54592730587 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

24+480
16+240

KT of 932 —

Options:

1' ® 3z

15

2, % s

3.<v1
4, = 2

Question Number : 85 Question Id : 54592730587 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T e H weares eg (?) & TUTT UT FAT e

aTge?

24+6x80

= M 79 =37

la+4xa60

Options:

32
1. s =



3. v 1
4, = 2

Question Number : 86 Question Id : 54592730588 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

? = (600 + 660) + (500 - 80)

Options:

1. =4
2.v 3
3.7
4, %5

Question Number : 86 Question Id : 54592730588 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFaf T wesT H wReaes Neg (?) & TUTH UT FAT 3T

Sl

? = (600 + 660) + (500 - 80)

Options:

1. = 4
2. v 3
3. % 7
4. = 5



Question Number : 87 Question Id : 54592730589 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Product of two co-prime numbers is 667. What will be the
L.C.M. of these numbers.

Options:

1.%x1

2. v 667

3. =% 625

4. = equal to their H.C.F.

Question Number : 87 Question Id : 54592730589 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el TE-3HTST TEATHT KT I0TIhel 667 &l Fo TEIT HI

IR TATIACTR FIT FM|

Options:

1. % 1

2. v 667

3. = 625

4. = 3o HH. & ST

Question Number : 88 Question Id : 54592730590 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The L.C.M. of three different numbers is 400. Which of the
following number cannot be their H.C.F.?

Options:

1. = 16
2. % 20
3. % 25
4. v 45

Question Number : 88 Question Id : 54592730590 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

el THeel HEII3N FT oTgdH TAIGAR 400 g a0 & & Fia-
AT G&AT 3okl AgcdH TATIGAS dal &l gehdTl

Options:

1. = 16
2. % 20
3. = 25
4. v 45

Question Number : 89 Question Id : 54592730591 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the following numbers is divisible by both 12 and
187

Options:

1.« 7524
2. % 3654
3. = 3027
4. = 5136

Question Number : 89 Question Id : 54592730591 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafei@a & O i I g&ar 12 3T 18 g @ JFea 87

Options:

1. v 7524
2. » 3654
3. = 3027
4. = 5136

Question Number : 90 Question Id : 54592730592 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the least natural number to be added to the 42361 to
make it multiple of 11.

Options:

1. % 2
2. %3
3.4
4. v 11

Question Number : 90 Question Id : 54592730592 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g8 DT T BT TEIAT AT hiford o d 42361 H AESa W
qROTA 11 FT 0T &

Options:

1. = 2
2. % 3
3. % 4
4. v 11

Question Number : 91 Question Id : 54592730593 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sale of two-wheeler on a showroom during first week of a
month was 780. In the second week it was 25 percent higher
than the first week. In the third week it decreased by 20
percent and in the fourth week it increased by 50 percent.
Find the average sale of two-wheeler during the four weeks.

Options:

1. » 840.5
2.v 926.25
3. = 880.7
4, » 1002.5



Question Number : 91 Question Id : 54592730593 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U JAElA % Uge TTAE A Uk oA 9T rufgar atger @
forshT 780 ofT| g @TATE # IE Tgel TTATE I Jelell H 25
gfcera 3T o7l R @vdig & 388 20 9iaerd &T FAT 318
WWWJ&W%WH%@%@?I I TCATE
aRTeT gafear aga T 3iad feshT A hifeio)

Options:

1. = 840.5
2. v 926.25
3. = 880.7
4. = 1002.5

Question Number : 92 Question Id : 54592730594 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average weight of a class of 25 students is 35 kg. If a
teacher whose weight is W kg is included, the average is goes
up by 1 kg. If another teacher whose weight is Z kg is also
included, the average weight of the class further increases by
2 kg. Find the value of WZ.

Options:

1. = 5560
2. % 5180
3. = 5240
4. v 5490

Question Number : 92 Question Id : 54592730594 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



25 WAL T Tk FH&T T G TofeT 35 Torellamd &1 IS Th
fereTer TogerT gatar W Torell & onfder &, ar aa 1 reemA
§¢ ST ¢ Ifg vk 3R et e aoia Z foear g, ot
offHer §, dl &l 1 A ad dotel 3N 2 Tohell & ST &1 WZ
T AT ATT HITIT|

Options:

1. = 5560
2. = 5180
3. = 5240
4. v 5490

Question Number : 93 Question Id : 54592730595 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper gives three successive discounts of 10 percent,
15 percent and 25 percent to his customer on marked price of
a product. To his another customer he gives 10 percent, 20
percent and 20 percent discounts on the same product. If the
difference between the purchasing prices of two customers is
Rs.540, then what is the marked price of the product?

Options:

1. » Rs.215000
2. % Rs.228000
3. v Rs.240000
4. » Rs.232000

Question Number : 93 Question Id : 54592730595 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Uh GehTaaR MYl 39T & MTohd AT T 3Ta AR A 10
ufarerd, 15 ufderd 3T 25 ufderd $r AP $e ar §1 39
EY ATEsH HI g5 34T 3cuig W 10 gfderd, 20 wfdera 3R 20
UTerd 7 ©e &aT &1 ATE Slell ATEehT & FT Hed & s Hl
T 540 %. &, T 3cuTg 71 3ifhd Hed Frdar §7

Options:

1. = %.215000
2. = %.228000
3. v %.240000
4. = %.232000

Question Number : 94 Question Id : 54592730596 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The price of petrol is 40 percent more than price of diesel and
price of diesel is twice the price of kerosene. If the price of
petrol is increases by 12 percent, price of diesel is increases by
15 percent and price of kerosene is decreases by m percent,
the overall increase is of 8 percent. Find the value of m.

Options:

1. = 15.1
2.% 164
3.v17.2
4 % 18

Question Number : 94 Question Id : 54592730596 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Oarel T hTAT SioTal oI hiAd & 40 wfaerd 31ad § 3T
SToTol 1 HTAA TAET & do T kAT & Qar &1 T dgrer
AT H 12 viderd &1 gig gidr §, Sietel &7 $HAd # 15
vicrerd T gig gar & 3 T8 & del ST H1Ad m vided |
g ST & o1 Fol fAemRT 8 wfderd #1 gig &1 &1 m
Alal AT I

Options:

1. = 15.1
2. » 164
3. v 17.2
4. = 18

Question Number : 95 Question Id : 54592730597 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The value of a house increased by the same percentage over
the last five years. If at beginning it was Rs.6.86 lakhs and in
the end it became Rs.20.48 lakhs, then {ind the percentage
increase every year.

Options:
1. = 50 percent

1
33~ percent
2. 3P

3. = 40 percent

1
4. " 36; percent

Question Number : 95 Question Id : 54592730597 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



foe o/ ot # vk o & 7T & Fare afcdd # gfE g8
AT &3 # TE 6.86 o1& FUF T AT 3 370 A g 20.48
ST TUF T BT IAT, A BT Frel Ticerd g fohcalr §7

Options:

1. = 50 gfaera

2 v 33311%31?

3. = 40 yfaera
4 x 36= gferard

Question Number : 96 Question Id : 54592730598 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A person spends his part of income is such that, his
expenditure is 25 percent of the income what it remained
after his expenditure. If income increased by 30 percent and
saving by 10 percent, then find the percentage point change in
his expenditure.

Options:

1. = 10

2.v12.3
3.%11.6
4. %104

Question Number : 96 Question Id : 54592730598 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Tk SR 3T 3 F Fo e 39 avE = e &,
38H wé%mqm‘igu AT 1 25 ufaerd g1 Iafe 3ma & 30
ufaere $1 gfa g5 3T g9 & 10 wfdera r gig g5, ar 386
g A vfderd fog aRader A1d FIee|

Options:

1. = 10

2. v 12.3
3. = 11.6
4. » 104

Question Number : 97 Question Id : 54592730599 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper marked a toy at Rs.600. He sold it after allowing
a discount and still made a profit of 22 percent. At what profit
percentage above its cost price did he mark the toy, if he sold
it for Rs.468.48?

Options:

1. v 56.25 percent
2. % 34.5 percent
3. % 584 percent
4. = 62 percent

Question Number : 97 Question Id : 54592730599 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk TR o $.600 # U Raellar fehd Tl 384 $& o
& 15 39 s 5T 3T 22 ufaerd &1 o hART| 38e olerd
AT O forctel Fox wfaerd o el 1 3iferc fomam, Ife 3@t
SO $.468.48 3 s=?

Options:




1. v 56.25 gfaera
2. % 54.5 gfderd
3. = 58.4 ufcera
4. % 62 wfaerd

Question Number : 98 Question Id : 54592730600 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Akhil bought a product at a discount of 15% on its marked price and sold it to Bansi
at a profit of 12.5%. Bansi sold the product to Chandan for Rs. 16065 and made a loss

of 22 E %. What is the marked price of the product?

Options:

1. v Rs.21600
2. » Rs.20000
3. % Rs.22500
4. » Rs.25000

Question Number : 98 Question Id : 54592730600 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

#@e o RATAT Aeg W 15% & T W UF 3cd9g @er AN 12.5% &
maqdﬁrm’raaﬁm|a‘ﬁﬁrzia:raa‘rmsnaﬁfrzz%%%gm:rw

o g4 3cuig &1 RAEAa 7o 741 872

Options:

1. v %.21600
2. = %.20000
3. = %.22500
4. = %.25000

Question Number : 99 Question Id : 54592730601 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A bag is marked at 70 percent above its cost price and sold at
d percent discount. The shopkeeper thus gains 10.5 percent.
What would be the selling price of a product with a cost price
of Rs.2250 and d percent profit?

Options:

1. = Rs.2800
2. » Rs.2900
3. = Rs.3208.5
4. v Rs.3037.5

Question Number : 99 Question Id : 54592730601 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh ST 3796l &R Hed & 70 ufderd 9T 3 foham 9=T &
3R d vfderd e 9T &= a7 &1 FH YHR gFReer R 10.5
vereled ot @I §1 %.2250 oo Hed 3 d gfcerd o &
1Y 3cUTe T Toehl Hed a1 gHem?

Options:

1. = %.2800
2. % %.2900
3. ® %.3208.5
4., v £.3037.5

Question Number : 100 Question Id : 54592730602 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From 2017 to 2018, the revenue of a company increased in the
ratio 2 : 3, whereas its expenditure increased in the ratio 11 :
18. If in both the years, the profit of company was same, then
what was the ratio of revenue to expenditure of company in
2018.

Options:



1.v7:06
2.%x5:4
3.%10:9
4 % 8:5

Question Number : 100 Question Id : 54592730602 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2017 & 2018 ok, foRal Shuell T Toed 2: 3 & 3HeuTd H &3
AT, STeifeh 3HRT =T 11: 18 & 3Hquid A §¢ 17| Ife el

gul H, el AT oIt FHATT AT, ar 2018 H FHUaT T TolEd ]
FAT & BT H U FIT 277

Options:

1.7 :6
2. 5:4
3. = 10 :9
4, = 8 1 5

Arithmetic Ability2
Group Number : 6
Group Id: 5459271516
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability2

Section Id : 5459271516



Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271818
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54592730603 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A total of 240 persons were there in a marries party with the
number of males to the numbers of females in the ratio 5 : 3.
Later, equal number of males and females joined the party
and now the ratio of number of females to the numbers of
males in the ratio 23 : 35. How many persons joined the party,
later?

Options:

1. = 40
2. % 20
3. % 25
4. v 50

Question Number : 101 Question Id : 54592730603 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Wﬁﬁﬁﬁﬁgﬁfﬂﬂwﬁﬁﬁaﬁwéﬁéﬁm eh
AfEe3 hr TEAT & e 5 : 3 AT | &E A, TEN AR
ATEETT FT TATT T&AT UEf H enfA 8 a5 3T 39 Afgenadt
T TEAT FT GEN HT TEAT & AT A 23 SS%IEIHﬁ;W
forder =afea areh & enfaer go?

Options:

1. = 40




2. = 20
3. = 25
4. v 50

Question Number : 102 Question 1d : 54592730604 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The age of three persons are in continue proportion. The
oldest person 1s 50 years older than youngest person and
youngest person is 20 years younger than the second oldest
person. Find the sum of the ages of all the three persons.

Options:

1. v 190 years
2. = 160 years
3. = 210 years
4. = 225 years

Question Number : 102 Question 1d : 54592730604 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

dlel SafFAT $T 3 AT 3quTd 7 & T gl A
a8 FH 3H & =gFd & 50 Tl 937 & 3 88 7 3H F
SATFd GEY T F13 SiFd & 20 Aol BleT g1 dlell sFiFadn
T 3 FT JNT AT SIS

Options:

1. v 190 ¥
2. % 160 a¥
3. » 210 ¥
4. = 225 g

Question Number : 103 Question 1d : 54592730605 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Veer borrowed Rs.60000 at the rate of 20 percent per annum
compound interest, interest being compounded annually.
How much amount should he have repaid at the end of the
first year if he repaid double the amount at the end of the
second year to clear his loan?

Options:

1. » Rs.25500
2. » Rs.28000
3. v Rs.27000
4. % Rs.26500

Question Number : 103 Question 1d : 54592730605 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

d of icay Tehgl& sITel, aliveh 0T 9T 20 Fiderd $T &
¥ %.60000 T IYN ToraT| gger ATl & 3T H 3 Tohcdall T
?:IDEI?I?ﬁ'EIT%UQﬁ'S-ldN 39a 39T FUT gcmﬁ & folv ggt avy &
3T H AT TATRr 277

1. = %.25500
2. = %.28000
3. v %.27000
4. = %.26500

Question Number : 104 Question Id : 54592730606 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A certain sum amounts to Rs.11520 at the end of two years
and Rs.15300 at the end of five years at a certain rate of
simple interest. If two-third of the sum invested at half of the
rate of simple interest, then what it becomes after three years.

Options:



1. v Rs.7260
2. » Rs.7500
3. = Rs.7340
4. » Rs.7410

Question Number : 104 Question Id : 54592730606 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T fafead Ofer graror sarer Fr vk @feaa 27 W, ar 91
& AT H 511520 3T 9T G & 39T A £.15300 & Aar gl
e T &7 A-f98e TTYRUT AT $T &7 & 37T 9T faaer
T ST &, O I8 i g1l & S fohddr & Swerm ?

Options:

1. v %.7260
2. » %.7500
3. * %./340
4. = 5.7410

Question Number : 105 Question Id : 54592730607 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of Rs.15000 when invested at compound interest
compounded half yearly, becomes Rs.17865.24 in one and half
year. What it becomes after given period if invested at same
rate of simple interest?

Options:

1. = Rs.16400
2. » Rs.15200
3. * Rs.14100
4. v Rs.17700

Question Number : 105 Question Id : 54592730607 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

QTN VAT T Tehgig STl H Toldel slal T €.15000 Hr
I, 3¢ a¥ H %.17865.24 g SATdT &1 IfE AT sTTT HT 2T
O Tolder ToRaT ST df I8 35 9% 3afT & &G Tohdall & Sidr ?

Options:

1. = %.16400
2. = %.15200
3. = %.14100
4. v %.17700

Question Number : 106 Question Id : 54592730608 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 100 meter length train is running at a speed of 60 km/hr.
How many seconds does it take to cross another train of 150
meter length standing on parallel track?

Options:

1. = 12.5
2.v 15
3. % 18
4 % 16

Question Number : 106 Question Id : 54592730608 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

100 AT, of6T goT 60 fohdAT / €S H7 0T & ITol Wr &1 36+
HATeAT T2 9T ST 150 A o6l Tk qET ¢of T IR el H

EGGIRIEICEICIK
Options:
1. = 12.5

2. v 15



3. = 18
4. = 16

Question Number : 107 Question Id : 54592730609 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Atul leaves Lucknow at 4 pm and reaches Allahabad at 8 pm.
Akhil leaves Allahabad at 6 pm and reaches Lucknow at 12
am. At what time do they cross each other?

Options:

1. = 7:15PM
2. v T112PM
3. = 7T:10PM
4. % 7:08PM

Question Number : 107 Question 1d : 54592730609 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HI HWEA 4 T a5 d fahel 3T 3RS 8 ol
SAEIEG qéull =T W 6 o SagEE d foder 3T
qaTes 12 8o @3 qgltul frd TR 9T I Sl Th-g@EY i
I FId g7

Options:

1. = /:15PM
2. v 1112PM
3. = /U10PM
4. = [:08PM

Question Number : 108 Question Id : 54592730610 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In a 500 m race, A beats B by 40 m. In a 1000 m race, B beats C
by 40 m. If A beats C by 14.6 seconds in a 500 m race, find the
time taken (in minutes) by B to run 2.4 km ?

Options:

1. % 8

2.v9.6
3. % 12
4 % 16

Question Number : 108 Question Id : 54592730610 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

500 AreT T Els A A, B & 40 AleT ¥ &7 2dT &1 T 1000
Frex &1 iy 7, B 40 Hiex & C &+ &7 a1 &1 IfE A 500
HAlcT T S5 A 14.6 s & C &I dT &, dr 2.4 AT Jolel
¥ fre B g@rT forr mr gw e (e &) 7 a2

Options:

1. = &
2. v 96
3. % 12
4. = 16

Question Number : 109 Question Id : 54592730611 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A’s rate of work 1s 40 percent more than that of B. If they
together complete a piece of work, then what fraction of the
work 1s done by A?

Options:

1. = 5/12
2. v T2



3. % 5/7
4. =75

Question Number : 109 Question Id : 54592730611 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A & FTH FIal HI & B HI Jolall H 40 yfcrerd 3+ g1 afg
d U T HH T R &, d A SaGRT TR a0 T T 37T
AT &7

Options:

1. = 512
2. v 712
3. = /7
4. = 75

Question Number : 110 Question Id : 54592730612 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man builds 1/8th part of a wall every day. Out of the length
of the wall built per day, 20 percent falls off at the end of the
day till the wall is completely built. In how many days can he
complete the construction of the wall?

Options:

1. % 8
2. % 10

g2
3.5 °®

9

U | o

4 v

Question Number : 110 Question Id : 54592730612 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Ueh STod ¢ el Uk Sar & 1/8 af T&ear FaTar &1 Ui
fead AT o) Fr des & &, 20 ufaerd & & 39 7 @1
Sl § S oer o R {1 o’g 8 o8l & Sl 9 daR &
fAToT 1 fohcel Tl # T T Gehcl 7

Options:

1. = 8

Question Number : 111 Question 1d : 54592730613 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X and Y together can complete a piece of work in 6 days. If X
alone can complete the same work in 15 days, in how many
days can Y alone complete that work?

Options:

1. = 9 days
2. = 5 days
3. v 10 days
4. = 12 days

Question Number : 111 Question Id : 54592730613 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X 3R Y ARt wTH & U fGed &1 6 faa & qr e &
Ifg X 37hell 38 A HI 15 &l A Q@ HT Ghar &, a7 Y 37
HTH FI Fhdel faall # Q@ HT Tl &7




Options:

1. = 9 faa
2. % 5 faa
3. v 10 fa=T
4. % 12 f&aT

Question Number : 112 Question Id : 54592730614 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The largest and the second largest angle of a triangle are in
the ratio of 11:9. The smallest angle is 12.5 percent of the sum
of the largest and the second largest angle. What is the sum of
the smallest and the second largest angle?

Options:

1. = 84°
2. % 108°
3. = 88°
4. v 92°

Question Number : 112 Question Id : 54592730614 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tk T3Sl F To &3 HI0T 3T @Y AGH 5 HI0T FT e[

AL 11:9 &1 G99 BT 10T, Fod 9 07 3N @8 o8 &3
IOT & AT T 12.5 AT g1 T B FHIT 3T g7 qod

&8 hI0T T AT Tohalell &7

Options:

1. = 84°
2. = 108°
3. = 88°
4. v 92°




Question Number : 113 Question 1d : 54592730615 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two concentric circles with radii a cm. and {(a + 2) cm. are
drawn on a paper. The difference between their areas is 88 sq
cm. Find the value of a.

Options:

1.% 2.5
2.v 06
3.5
4, % 1.5

Question Number : 113 Question Id : 54592730615 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar Tehied ged fotehr fIead a @4t 3iT (@ + 2) 4T &, v
el UL FATT SATd &1 3elah &1 o ST ol 3T 88 T9T AT &

| a T AT AT FI|

Options:

1. = 2.5
2. v 6
3. = 5
4. = 1.5

Question Number : 114 Question Id : 54592730616 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Area of a rhombus is 175 cmz. Length of one diagonal is 25
cm. Find the length of other diagonal.

Options:

1. = 10 cm
2. % 15 cm



3. v14 cm
4. =12 cm

Question Number : 114 Question Id : 54592730616 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sk HHATIHS T &Fhel 175 Tef QAT §1 Uk TRl T daTg
25 AT &1 3 THUT FT da% AT HIToTC

Options:

1. = 10 gAY
2. = 15 @AY
3. v 14 9#T
4. % 12 I

Question Number : 115 Question Id : 54592730617 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Study the following Table carefully to answer the questions.

The following Table represents the number (in thousands) of
Fan produced by a company in the different years.

vear | Production
2012 40
2013 50
2014 32
2015 90
2016 64
2017 70

What was the approximate average number of Fan
manufactured by company over all the years together?

Options:

1. » 56000



2. % 40000
3. = 50000
4. v 61000

Question Number : 115 Question Id : 54592730617 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFATIT=T weaT T e &ef & ToIT JTfolerT &7 eTeTqdeh
eI |

arforeeT faffies awt & Y Fuelr & Z@nT 3cutfea TmT &
AT (oI #) T geidar &

a¥ | 3G
2012 40
2013| 50
2014 | 52
2015| 90
2016| 64
2017 70

el awt & Fuer ganT AT gz Fr aeramr siaa T F
oT?

Options:

1. = 56000
2. = 40000
3. = 50000
4. v 61000

Question Number : 116 Question 1d : 54592730618 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following table carefully to answer these questions:

The table gives the number of students in different school and
the percentage of students in it who like Volleyball and
Basketball.

Number of

School il Volleyball | Basketball
A 120 30% 40%
B 140 30% 25%
Z 160 25% 28%
D 180 25% 25%
E 240 27% 40%

By what percentage is the number of students who like
Volleyball in School D is more than those who like Basketball
in School B?

Options:

1. = 12.50 percent
2. % 33.33 percent
3. = B6b.66 percent
4. v 28.57 percent

Question Number : 116 Question Id : 54592730618 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fArafaf@a deall &1 3ca¥ &ot & v aEuEiyEas fAeafafd

dTTelRT T 3TeTITT FHi|

arfererT faffiesr facamery & STAr T T&IT 3T 38, dlelare
2T STEhcalel THE hlal aTel BIEAT AT Uiaera 2eiTdr &1

— L e —
wedn

A 120 30% 40%

B 140 30% 25%

L 160 25% 28%

D 180 25% 25%

E 240 27% 40%

faegmerr D # dlelldiel THG el dlel BIAT hT HE&IT, TdcITery

B # §Ehcaid 989E Fa arel o 8 raar ufaera 3f9 &

Options:

1. = 12.50 ufcrerd
2. % 33.33 wfderd
3. = 66.66 Hfcrerd
4. v 28.57 wfderd

Question Number : 117 Question Id : 54592730619 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The Pie-chart shows the result of a survey among 123060
people concerning the use of tobacco. Study the Pie-chart and
answer the question.

BIDI
OTHER TOBACCO

— HABIT
o WITHOUT
Tge SMOKING

HABIT
120
CIGARETTES

Percentage of people under survey, who have habit of Bidi are:

Options:

1. = 7.5 percent
2. % 20 percent
3. v 25 percent
4. % 5.2 percent

Question Number : 117 Question Id : 54592730619 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



URE-IIE # JEETh T 8ael o & Hag 123060 wai &
GJ&TuT & Wt UROMA I SRITAT IR™T g1 INS-ATE Sl 3eTTqeT
HIT 3T 7oA & Ica¥ AT

SR
U

TA&TUT o d&d 3e el T uiaerd, [SeTerr Siar T AT &

Options:

1. = 7.5 vfcerd
2. = 20 gfaera
3. v 25 ufcrerd
4, = 5.2 gfaerd

Question Number : 118 Question Id : 54592730620 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Study the following graph carefully to answer these questions:

The following graph represents Populations (in thousands) of
a States over the years

0

445
440
435
430

=5
o =T
= =
L)
= |
Ly
[
=T
425 =
=5
420
415 =
=r
410
405
400
395 . . . . .
2002 2003 2004 2005 2006 2007

The ratio of population of state in 2004 and population of
State in 2006 1s:

Options:

1. = 123 : 215
2.v 425 :436
3.=16:17
4. % 81:80

Question Number : 118 Question Id : 54592730620 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fAraATaT geall T 3cca et & folv ATaumiigash I T
eI R

forafoEaa o B a0 gl & R o T Fa8ETT (5o
A) Y geiiar g
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Options:

1. = 123 : 215
2. v 425 1 436
3. = 16 : 17
4, = 81 : 80

Question Number : 119 Question Id : 54592730621 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following graph carefully to answer these questions:

Production and sale of Printers of 3different Companies ina

month

A B C

E Unit Produced ® Unit Sold

Which Company had the highest percentage of sale with
respect to its production?

Options:

1.vA
2. % B
3.5 C
4. %D

Question Number : 119 Question Id : 54592730621 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



farafeali@d weal T 3 &1 & oI Fau=gas I FT

eI |

Fradr Afer & 3 Rl FokaT & Rt a7 sooe 3 Rl

$13

680

oFE FUal T TSshr Ufaerd 3cuiea & @mae Teehdd g7

Options:
1. v A
2. = B

3. = C
4. = D

Question Number : 120 Question Id : 54592730622 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following graph carefully to answer the questions.

The following Line graph shows the percentage of students
studying in different classes of a primary school.

Total Number of Students = 1000

30.00%
25.00% Class o,
Class 5,
22 00%
S Class 1,
2,18%
ass 3,
150089 15-00%
10.00%:
5.00%
0.00% T T : ;
Class1 Class 2 Class 3 Class 4 Class 5

The number of students studying in the Class 1 is what
percent of the number of students of Class 4?

Options:

1. v 83.33 percent
2. % 33.33 percent
3. ®= 62 percent

4. = 72.5 percent

Question Number : 120 Question Id : 54592730622 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ATl oge A Uk WUfAS Tohot & fAfees Femst &
Jgat dTel Taeaniiai & wfderd o geifar &l

faezntdait sr o F@AT = 1000

30.00%

25.00% =ET o

; FET 9,
weEm 1
20.00% : 22.00%
' 2, 18 3,

15.00% 160096

10.00%

5.00%

0.00%
e 1 e 2 FHam 3 e 4 e O

HETT 1 H gl arelr TASITTA3M hT TE&IT H&T 4 H Igal drell
faeafeisit i1 a&ar 1 feaar ufdera g7

Options:

1. v 83.33 wfcrerd
2. = 33.33 wfcerd
3. % 62 gicrerd

4. = 72.5 qicerd

General English1
Group Number : 7
Group Id: 5459271517

Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Englishil

Section Id : 5459271517

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number : 1
Sub-Section I1d: 5459271819
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54592730623 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

The earthquake was in a fairly unpopulated area, but a lot of
people feel it.

Options:

1. = The earthquake was

2. = 1In a fairly unpopulated
3. = areqg, but a

4. v lot of people feel it.

Question Number : 121 Question 1d : 54592730623 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options.

The earthquake was In a fairly unpopulated area, but a lot

of people feel It.

Options:

1. = The earthquake was
2. % In a fairly unpopulated
3. = area, but a

4. v lot of people feel It.

Question Number : 122 Question Id : 54592730624 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

Taxpayers who do not have a PAN card can filed returns
quoting their Aadhaar number.

Options:

1. = Taxpayers who do not
2. » have a PAN card can

3. v filed returns quoting

4. = their Aadhaar number.

Question Number : 122 Question Id : 54592730624 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options.

Taxpayers who do not have a PAN card can filed returns

quoting their Aadhaar number.

Options:

1. = Taxpayers who do not
2. » have a PAN card can
3. v filed returns gquoting

4. = their Aadhaar number.

Question Number : 123 Question 1d : 54592730625 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

I’s normal to be scary during an earthquake, which can rock
the ground like a boat in rough water.

Options:

1. v I's normal to be scary
2. = during an earthquake
3. » which can rock the

4. = ground like a boat

Question Number : 123 Question Id : 54592730625 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options.

It's normal to be scary during an earthquake, which can

rock the ground like a boat in rough water.

Options:

1. v It's normal to be scary
2. » during an earthquake
3. = which can rock the

4, = ground like a boat

Question Number : 124 Question 1d : 54592730626 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

For as long as humans have lived on planet Earth, the moon
1s been a focus of fascination.

Options:

1. = For as long as

2. » have lived on

3. v the moon is been

4. = a focus of fascination.

Question Number : 124 Question Id : 54592730626 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options.

For as long as humans have lived on planet Earth, the

moon 1s been a focus of fascination.

Options:

1. = For as long as
2. % have lived on
3. v the moon Is been

4. = a focus of fascination.

Question Number : 125 Question 1d : 54592730627 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

Lions are more likely to attack in drought years like 1965—
which is an abnormally dry one in Kenya.

Options:

1. = Lions are more likely

2. = In drought years

3. v which is an abnormally
4. = dry one in Kenya.

Question Number : 125 Question Id : 54592730627 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options.

Lions are more likely to attack in drought years like 1965—

which Is an abnormally dry one In Kenya.

Options:

1. = Lions are more likely
2. ® In drought years

3. v which 1s an abnormally
4, = dry one In Kenya.

Question Number : 126 Question 1d : 54592730628 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

The climate kept on change, bringing ever more irregular
rains, storms, and temperature swings.

Options:

1. v keeps on changing

2. * Keeping on changing

3. » Kept on changed

4. = No substitution required

Question Number : 126 Question Id : 54592730628 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment Iin the given sentence. If there Is no

need to substitute It, select option No substitution required.

The climate kept on change, bringing ever more irregular

rains, storms, and temperature swings.

Options:

1. v keeps on changing
2. ®» keeping on changing
3. = kept on changed

4. = No substitution required

Question Number : 127 Question Id : 54592730629 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

In the United States, at least 300 people has been attacking by
an exotic pet since 1990.

Options:

1. = had been attack
2. v have been attacked



3. = have been attacking
4. = No substitution required

Question Number : 127 Question Id : 54592730629 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there Is no

need to substitute It, select option No substitution required.

In the United States, at least 300 people has been attacking
by an exotic pet since 1990,

Options:

1. = had been attack
2. v have been attacked
3. * have been attacking

4. = No substitution required

Question Number : 128 Question Id : 54592730630 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

Egeg smuggling is a crime that is growing in numbers because
eges are easy to smuggle then live birds.




Options:

1. = is easy to smuggle than

2. = are easy to smuggling than
3. v are easler to smuggle than
4. = No substitution required

Question Number : 128 Question 1d : 54592730630 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there Is no

need to substitute It, select option No substitution required.

Egg smuggling is a crime that Is growing In numbers

because eggs are easy to smuggle then live birds.

Options:

1. = I1s easy to smuggle than
2. = are easy to smuggling than
3. v are easier to smuggle than

4. = No substitution required

Question Number : 129 Question Id : 54592730631 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

The monk parakeet is one of 25 tropical parrot species that
have gone from pet to wild animal.

Options:

1. = has gone {rom

2. = have been going from

3. = had been gone from

4. v No substitution required

Question Number : 129 Question Id : 54592730631 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there Is no

need to substitute It, select option No substitution required.

The monk parakeet i1s one of 25 tropical parrot species that

have gone from pet to wild animal.

Options:

1. * has gone from

2. = have been going from
3. = had been gone from
4

. v No substitution required



Question Number : 130 Question Id : 54592730632 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

For the best wolf sightings, visit in summer or midwinter and
search at the earlier morning.

Options:

1. v during the early morning.

2. # In the earlier mornings.
3. # at the early morning.
4. = No substitution required

Question Number : 130 Question Id : 54592730632 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there Is no

need to substitute It, select option No substitution required.

For the best wolf sightings, visit In summer or midwinter

and search at the earlier morning.

Options:

1. v during the early morning.
2. % In the earlier mornings.

3. # at the early morning.
4,

* No substitution required

Question Number : 131 Question Id : 54592730633 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to {ill in the blank.

A study shows that forest restoration is the best
climate change solution available today.

Options:

1. v clearly
2. = nearly
3. » hardly
4. = barely

Question Number : 131 Question Id : 54592730633 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

A study shows that forest restoration Is the best

climate change solution available today.

Options:

1. v clearly

2. = nearly
3. = hardly
4. = barely

Question Number : 132 Question Id : 54592730634 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

Methane stays in the atmosphere for less time than carbon, it’
s highly effective trapping heat.

Options:

1. = of



2. v at
3. = for
4. = by

Question Number : 132 Question Id : 54592730634 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Methane stays in the atmosphere for less time than carbon,

it's highly effective trapping heat.

Options:

1. = of
2. v at
3. = for
4. = by

Question Number : 133 Question Id : 54592730635 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

If the whole of the Greenland ice cap melts, the sea level will
rise siX and seven meters.

Options:

1. » among
2. = besides
3. v between
4. = beneath

Question Number : 133 Question Id : 54592730635 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

If the whole of the Greenland ice cap melts, the sea level

will rise six and seven meters.

Options:

1. * among
2. = besides
3. v between

4. = beneath

Question Number : 134 Question Id : 54592730636 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

I was initially interested in art, I felt more of a
connection to music.

Options:

1. = As
2. = but
3. = for
4. v Even though

Question Number : 134 Question Id : 54592730636 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

| was Initially interested in art, | felt more of a

connection to music.

Options:

1. = As
2. % but
3. = for
4. v Even though

Question Number : 135 Question 1d : 54592730637 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Because I travel so much, I not only feel like a citizen of the
world, like a part of a global family.

Options:

1. v but also
2. = and also
3. = but
4. = and

Question Number : 135 Question 1d : 54592730637 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

Because | travel so much, | not only feel like a citizen of

the world, like a part of a global family.

Options:

1. v but also
2. * and also
3. # but
4. = and

Question Number : 136 Question Id : 54592730638 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

Everyone in the township was so kKind and so welcoming
I felt truly humbled.

Options:

1. = when
2. v that
3. % as

4. % gince

Question Number : 136 Question Id : 54592730638 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

Everyone In the township was so kind and so welcoming
| felt truly humbled.

Options:

1. = when
2. ¢ that
3. ® as

4. % since

Question Number : 137 Question 1d : 54592730639 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Caught between the deep waters of the Arctic and Atlantic,
experiencing climate change from both directions.

Options:

1. = its
2. = they
3. vit’s
4. = them

Question Number : 137 Question Id : 54592730639 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

Caught between the deep waters of the Arctic and Atlantic,

experiencing climate change from both directions.

Options:

1. = Its
2. » they
3. v it’s

4. = them

Question Number : 138 Question 1d : 54592730640 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Measuring 10 feet tall, the African savanna elephant is one of
land animals on Earth.

Options:

1. = large

2. = larger

3. » more larger
4. v the largest

Question Number : 138 Question 1d : 54592730640 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

Measuring 10 feet tall, the African savanna elephant is one

of land animals on Earth.

Options:

1. = large
2. = larger
3. = more larger

4. v the largest

Question Number : 139 Question Id : 54592730641 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the following sentences in their correct order to
form a meaningful paragraph.

A: In a bid to save Mount Everest from trash, Nepal conducted
a month-long cleaning campaign.

B: Instead of sending the solid waste straight to the landfill
near Kathmandu, the items were segregated, processed and
recycled as raw materials for various products.

C: For the mega clean-up drive, government and
non-government agencies, along with a dedicated Sherpa
team, not only brought the litter down but also removed four
dead bodies from the roof of the world.

D: It collected around 10,000 kg of rubbish from the region.

Options:

1. v ADCB
2.« ADBC



3. = CBAD
4. » BCAD

Question Number : 139 Question Id : 54592730641 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the following sentences in their correct order to

form a meaningful paragraph.

A: In a bid to save Mount Everest from trash, Nepal
conducted a month-long cleaning campaign.

B: Instead of sending the solid waste straight to the landfill
near Kathmandu, the items were segregated, processed and
recycled as raw materials for various products.

C: For the mega clean-up drive, government and
non-government agencies, along with a dedicated Sherpa
team, not only brought the litter down but also removed four
dead bodies from the roof of the world.

D: It collected around 10,000 kg of rubbish from the region.

Options:

1. v ADCB
2. = ADBC
3. = CBAD
4. = BCAD

Question Number : 140 Question Id : 54592730642 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has four parts, rearrange the given parts so as to
form a meaningful sentence.

A:in India but we now have

B: writings by Indians in English

C: English is not only widely used
D: an impressive body of literary

Options:

1. « CBAD
2. v CADB
3. = CDAB
4. = CABD

Question Number : 140 Question Id : 54592730642 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has four parts, rearrange the given parts so as

to form a meaningful sentence.

A: In India but we now have
B: writings by Indians in English
C: English I1s not only widely used

D: an impressive body of literary

Options:

1. = CBAD
2. v CADB
3. = CDAB
4. = CABD
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Question Number : 141 Question Id : 54592730643 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the following sentences in their correct order to
form a meaningful paragraph.

A: While knowing about its past in ancient and medieval
times is very important, its colonial experience is particularly
significant for comprehending modern India

B: India has a long and rich history.

C: This holds true probably as much for an individual or
social group as for an entire country such as India.

D: Understanding the present usually involves some grasp of
its past.

Options:

1. = BACD
2. = BADC
3. v DCBA
4. = DBAC

Question Number : 141 Question 1d : 54592730643 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the following sentences In their correct order to

form a meaningful paragraph.

A: While knowing about its past in ancient and medieval
times Is very Important, its colonial experience I1s particularly
significant for comprehending modern India

B: India has a long and rich history.

C: This holds true probably as much for an individual or
soclal group as for an entire country such as India.

D: Understanding the present usually involves some grasp

of its past.

Options:

1. = BACD
2. = BADC
3. v DCBA
4. = DBAC

Question Number : 142 Question Id : 54592730644 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Coarse

Options:

1. ¥ Rough
2. = Stiff

3. = Tired
4. = Smooth



Question Number : 142 Question 1d : 54592730644 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Coarse

Options:

1. v Rough
2. = Stiff
3. = Tired
4. = Smooth

Question Number : 143 Question Id : 54592730645 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Destitute

Options:

1. = Unfortunate
2. v Wealthy

3. = Defective

4. = Rotten

Question Number : 143 Question Id : 54592730645 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Select the antonym of the given word.

Destitute

Options:



1. = Unfortunate
2. v Wealthy

3. # Defective
4. = Rotten

Question Number : 144 Question Id : 54592730646 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Diminish
Options:

1. = Disappear
2. #» Diverse
3. v Decline
4. = Disclose

Question Number : 144 Question Id : 54592730646 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Select the synonym of the given word.

Diminish
Options:

1. = Disappear
2. » Diverse
3. v Decline

4. = Disclose

Question Number : 145 Question 1d : 54592730647 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the antonym of the given word.

Glorify

Options:
1. v Vilify

2. » Praise
3. = Prohibit
4, = Amuse

Question Number : 145 Question Id : 54592730647 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Glorify

Options:

1. ¢ Vilify
2. = Praise
3. = Prohibit
4. = Amuse

Question Number : 146 Question Id : 54592730648 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Consent

Options:

1. = Significance
2. v Permission
3. = Proposal



4, = Opportunity

Question Number : 146 Question Id : 54592730648 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Consent

Options:

1. = Significance
2. v Permission
3. = Proposal

4, = Opportunity

Question Number : 147 Question 1d : 54592730649 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. v Integrety
2. » Exclusive
3. = Adorable
4. = Validate

Question Number : 147 Question Id : 54592730649 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. v Integrety
2. = Exclusive

3. = Adorable



4. = Validate

Question Number : 148 Question Id : 54592730650 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. = Vulnerable
2. v Pretantious
3. = Consequence
4. = Improbable

Question Number : 148 Question Id : 54592730650 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. = Vulnerable
2. v Pretantious
3. = Consequence

4. #= Improbable

Question Number : 149 Question Id : 54592730651 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. * Remuneration
2. = Disconnected
3. v Convergance
4, = Significance

Question Number : 149 Question Id : 54592730651 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. * Remuneration
2. = Disconnected
3. v Convergance
4. = Significance

Question Number : 150 Question Id : 54592730652 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Feel like a million dollars.

Options:

1. v Feel healthy and happy
2. * To be misunderstood

3. = Feel confident

4. = Involve In an argument

Question Number : 150 Question Id : 54592730652 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Select the meaning of the given idiom.

Feel like a million dollars.

Options:



1. v Feel healthy and happy
2. * To be misunderstood

3. = Feel confident
4,

* |nvolve In an argument

Question Number : 151 Question Id : 54592730653 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

As ugly as sin

Options:

1. = To be uncultured

2. v Be visually unattractive
3. = Lacking faith

4. = To be repetitive

Question Number : 151 Question Id : 54592730653 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

As ugly as sin

Options:

1. = To be uncultured
2. v Be visually unattractive
3. = Lacking faith

4, = To be repetitive



Question Number : 152 Question 1d : 54592730654 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

As happy as Larry

Options:

1. = To be unhappy

2. = Be In a good company
3. v In very good spirits

4, = To pretend

Question Number : 152 Question Id : 54592730654 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

As happy as Larry

Options:

1. * To be unhappy

2. » Be In a good company
3. v In very good spirits

4, = To pretend

Question Number : 153 Question 1d : 54592730655 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word which means the same as the group of words
given.

The practice or custom of having more than one wife or
husband at the same time.

Options:

1. v Polygamy
2. = Polymer
3. = Polyglot
4. = Polygon

Question Number : 153 Question Id : 54592730655 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of

words given.

The practice or custom of having more than one wife or

husband at the same time.

Options:

1. v Polygamy
2. = Polymer
3. = Polyglot
4. = Polygon

Question Number : 154 Question Id : 54592730656 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word which means the same as the group of words
given.

Able to adapt or be adapted to many different functions or
activities.

Options:

1. = Fatalist

2. v Versatile
3. = Narcotic
4. = Veteran

Question Number : 154 Question Id : 54592730656 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of

words given.

Able to adapt or be adapted to many different functions or

activities.

Options:

1. = Fatalist
2. v Versatile
3. = Narcotic

4. = Veteran

Question Number : 155 Question Id : 54592730657 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word which means the same as the group of words
given.

Cut off (a limb) by surgical operation.

Options:

1. = Crusade
2. » Bouquet
3. v Amputate
4. » Homicide

Question Number : 155 Question Id : 54592730657 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of

words given.

Cut off (a limb) by surgical operation.

Options:

1. = Crusade
2. = Bouquet
3. v Amputate

4. = Homicide
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Sub questions

Question Number : 156 Question Id : 54592730659 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The author of the given passage is mainly concerned with:

Options:

1. v Ailr pollution

2. » Range of pollutants in the air
3. = Climate change

4. = Smog and soot

Question Number : 157 Question 1d : 54592730660 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The harmful effects of smog and soot doesn’t include one of
the following:

Options:

1. = Irritation in the eyes
2. v Heat related deaths

3. » Damage to the lungs

4. = Trigger asthma attacks

Question Number : 158 Question 1d : 54592730661 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The author of the passage doesn’t mention one of the
following options as possible solution to air pollution:

Options:

1. = Buying locally produced food
2. = Sensible choices about transportation



3. v Flying food from across the country.
4. = Less burning of fossil fuels.

Question Number : 159 Question Id : 54592730662 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is true as per the information
mentioned in the passage:

Options:

1. = Alr pollution doesn’t contribute to climate change.

2. * Smog forms as a result of less ultraviolet radiation in the
air.

3. » Greenhouse gases lead to cooler temperatures on earth.
4. v Mould and allergens from trees can be hazardous to
health.

Question Number : 160 Question Id : 54592730663 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The given passage 1s most likely to be taken from:

Options:

1. v A science journal

2. = A political magazine
3. » An economic survey
4. = A newspaper editorial

Question Id : 54592730658 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



